1/17/2020

Mechanical

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions

in question paper.

Post Name: Junior Trainee - Mechanical

SECTION 1 - GENERAL KNOWLEDGE

Question No.1

(A) O Indian Overseas Bank
QOGODHD LDEDD erjos

(B) O Bank of Baroda
ergo8 ed o8

(C) O State Bank of India
?geS w°5o§ €95 QoG 03°

(D) O Punjab National Bank
Dozred NS ENCEY

Recently, Dena Bank and Vijaya Bank got merged with which of the following banks?
B e§oLd 0BOKL D20 er§oLd 25O $od oL’ DDDB000To0N?

1.00

Question No.2

The term NEFT (in banking), is an abbreviation of

NEFT (e§o80f &°) eosd 65500 cng), DRysea Grd000:

(A) O National Electronics Financial Transaction

DS o)e)gm‘()éb :QK)"QOZi)é QQ‘*&S

(B) O National Electronic Funds Transfer
J0dS aogaé Dol ErRY06
(C) O Net Electronics Financial Transfer

(D) O Net Electronics Funds Transfer

1.00

Question No.3

(A) O Uttar Pradesh
S leretal)

(B) O Maharashtra
HoDsoeNH
&
(C) O Bihar
DFE

(D) O Assam
@5"’30

In which of the following States, Tarapur Nuclear Power Plant is located?
800 J oS’ TrTeEyrd Argdans D56 Frots JVED &) &?

1.00

Question No.4

2850 DO PEPVIT D ) Edeeedd?
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Recently, who has been elected as Britain's Prime Minister?

1.00
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(A) O May Hunt
=0 oS

(B) O Tim Durant
ISY @50"065

(C) O Boris Johnson
£°0% 0D

(D) O Dominic Raab
TeS Toed

Question No.5

The scheme 'PAHAL' is related to
'PAHAL' e980 H&%0 £ %020H0VIA

(A) O DISCOM development
DISCOM esdy8

(B) O LPG subsidy
LPG "«)233(?.

(C) O No frill account
I 2S5 0ots

(D) O Promoting manufacturing Sector in the country
B%0¢° 3036 Borr) Fehyirothoes

1.00

Question No.6

o*%ofo S For D 396 6o TG

(A) O Industrial development
FOFTE SN

(B) O Sports
dsen

(C) O Science
DFPHTRo

(D) O Information Technology
Qébé&:ls e3s"le)a?,

Rashtriya Khel Protsahan Puraskar award is given for the contribution made in the field of

Gor$0e5°D) BIHVLD TP LIXTVEBLILICIS0D

1.00

Question No.7

Who gave the Slogan 'Back to Vedas’?
DEPOLH DBVOGE" 00 AT BINITTHD?

(A) O Ramakrishna Paramahansa
ova)sbig DB

(B) O Lala Lajpat Rai
PP ORHA TPA

(C) O Swami Dayanand Saraswati
F BasrDo DB

(D) O Swami Vivekananda
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.5"5&) DDseH0s

Question No.8 1.00

The air envelope surrounding the earth is called
0 o8 avzgi)oz‘l)oinéa TOI0 8DSEPY 9 DS

(A) O Atmosphere
TSIO6e0

(B) O Hydrosphere
2ePOB:0(3PEDY0DE)

(C) O Asthenosphere
93793?030&6

(D) O Lithosphere
Ber50e30(DE 2y 06)

Question No.9 1.00

Which of the following rays penetrates the ozone layer in attenuated form and reaches the earth?
806 36O’ LE'S P60 DLISTT Va0t B BHHID JJ?

(A) O Microwaves
‘{OJ"\%.&‘ SGorren

(B) O Ultraviolet B
esgsﬁcﬁ»e?es B

(C) O X-rays
X 86een

(D) O Gamma Rays
e S6eTen

Question No.10 1.00

The Prime Minister Rozgar Yojana (PMRY) was launched in
DErd008 B 6 Brad (PMRY) Qi) Jr6odoseddde?

(A) O 1993
1993

() O 2003
2003

() O 2005
2005

(D) O 1995
1995

Question No.11 1.00

What is the force acting on a unit area of a surface called?
€050 AI0E); PaTE PTVIORD DIBOKN LVAVID D0ETEH?

(A) O Pressure
desdo

(B) O Density
Jroghed
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1/17/2020 Mechanical
(C) O Viscosity
;”o‘lmﬁ
Q

(D) O Torque
e3°525

Question No.12

Recently, Dr. Subir Vithal Gokarn passed away due to illness. He is a/an
. 20D6 DS FE atdde B rijod Sx0) L. WoD 28

(A) O Former Finance Minister
& 988 H00d

(B) O Former IAS Officer
S0 |AS e9dse0

(C) O Former Chief Minister of Gujarat
(LTS Hoee HPJVS

(D) O Former RBI Deputy Governor
a8 RBI a25g8 6066

1.00

Question No.13

Recently, which government has exempted Indian tourists from Visa fees for tourism purposes?
DOE PATRTV FOLH erEAaDH VTRLOL DF 2w o BBHL D YESBLo DALY

‘Q!‘D‘)ié@?

(A) O China
QLI®

(B) O Japan
2D

(C) O Nepal
JJrS

(D) O SriLanka
08

1.00

Question No.14

The 10th Mekong-Ganga Cooperation (MGC) Ministerial Meeting was held in
102 205°0f-rfof ©375°6 (MGC) 008 Fo0) DarD0 &5° 226000

(A) O Bangkok
erjos°§

(B) O Los Angeles

(C) O Kobe
&6

(D) O Wuhan
&R

1.00

Question No.15
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1/17/2020 Mechanical
What is the expansion of the acronym 'BCCI' in sports?
§¢0eS” 'BCCI' 090 208000708 Dydes Doe3?

(A) O Board of Control for Cricket in India
8°8 0D Loff'S D6 836 @D wodasr

(B) O Board of Cricket Committee in India
eS° § e 8885 S0 9D Qoo

(C) O Board of Cricket Commentary in International
eS"é 23O $5¢5 5°00b A R0 2GS

(D) O Board of Common Cricket in International
e5° 8 3D 5P §3¢5 S Qotd) VRS

Question No.16

Which of the following is also known as "Five Principles of Peaceful Co-existence"?
806 TOS° DO 'FoA0BNG BOHT IS DEL WTTPe' TP DLVDLICIR0E?

(A) O Manusmriti
OROYNS

(B) O Panchsheel
DosIw

(C) O Panchayatana
DoTPOSD

(D) O Vedanga
>Trofs

1.00

Question No.17

Which one of the following is not a primary sector?
808 TS’ DO FEAWE Goridn SE?

(A) O Forestry
8D Sotio

(B) O Animal husbandry
DBV0DEE
[A]
(C) O Automobile
¢S 208S

(D) O Fishery
BB OF

1.00

Question No.18

A river drains the water collected from a specific area is called its
28 DR FoB0 008 DEBOBIED DB HO GONS BR0A. &3 FoTe) €8 O GV

DLOFED

(A) O Catchment area
HBI°E Jrodho

(B) O Water current
DA HsTo

O

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html

1.00

(2N

5/44



1/17/2020

(C) Water divide
TEEDE

(D) O Watershed
Tedn&

Question No.19

02O OO $0O O VAVEHANS’ ER0H?
(A) O Pacific Ocean

HBPE BHTFRADVGO
(B) O Indian Ocean

2P0 0IEHNE0

(C) O Atlantic Ocean
¢rotd§ LWBEDINGo

(D) O Arctic Ocean
88) 88 LBFOBGS

The Amazon river falls into which of the following oceans?

1.00

Question No.20

Where was the G20 Summit 2019 held?
2019 G20 a7d%0 NEXA 200587

(A) O Japan
23

(B) O Saudi Arabia
6 oB8Dosw

(C) O India
Qoco3r

(D) O North Korea
&80 S605r

1.00

SECTION 2 - WORKING ENGLISH

Question No.1

(A) O Calm
Calm

(B) O Sophisticated
Sophisticated

(C) O Immature
Immature

(D) O Mature
Mature

Choose the word which best expresses the similar meaning of the given word " CALLOW "
Choose the word which best expresses the similar meaning of the given word " CALLOW "

1.00

Question No.2

The tables were lined up the wall

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html

Fill in the blanks with suitable Preposition from the given alternatives.

1.00

6/44



1/17/2020 Mechanical
Fill in the blanks with suitable Preposition from the given alternatives.

The tables were lined up the wall
(A) O of
of
B) O to
to
(C) O along
along

(D) O about
about

Question No.3 1.00

Choose the word which expresses nearly the opposite meaning of the given word " INCUMBENT

Choose the word which expresses nearly the opposite meaning of the given word " INCUMBENT

(A) O Binding
Binding

(B) O Necessary
Necessary

(C) O Urgent
Urgent

(D) O Unnecessary
Unnecessary

Question No.4 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Seriuous

seriuous

(B) O Recoveri
Recoveri

(C) O Obecity
Obecity

(D) O Query
Query

Question No.5 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Abolishid

Abolishid

(B) O Various
Various

(C) O Absurrd
Absurrd

(D) O Wrinkel
Wrinkel

Question No.6 1.00
Fill in the blanks with suitable Article from the given alternatives.

Rathore scored eighty seven runs in ninety balls including eight boundaries and
six

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 7144



1/17/2020 Mechanical
Fill in the blanks with suitable Article from the given alternatives.

Rathore scored eighty seven runs in ninety balls including eight boundaries and
six

(A) O a
a
(B) O the
the
(C) O No article
No article
(D) O an

an

Question No.7 1.00

Choose the word which expresses nearly the opposite meaning of the given word " QUANDARY

Choose the word which expresses nearly the opposite meaning of the given word " QUANDARY

(A) O Certainty
Certainty

(B) O Clutch
Clutch

(C) O Dilemma
Dilemma

(D) O Embarrassment
Embarrassment

Question No.8 1.00

Choose the word which best expresses the similar meaning of the given word " SHALLOW "
Choose the word which best expresses the similar meaning of the given word " SHALLOW "
(A) O Major

Major
(B) O Start

Start
(C) O Empty

Empty
(D) O Full

Full

Question No.9 1.00

Choose the word which expresses nearly the opposite meaning of the given word " SWINDLED "
Choose the word which expresses nearly the opposite meaning of the given word " SWINDLED "
(A) O Donate

Donate

(B) O Beat
Beat

(C) O Deceive
Deceive
(D) O Victimize
Victimize

Question No.10 1.00

Choose the word which best expresses the similar meaning of the given word " SCOURGE "
Choose the word which best expresses the similar meaning of the given word " SCOURGE "
(A) O Miniature

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 8/44
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Miniature
(B) O Delight
Delight

(C) O Misfortune
Misfortune

(D) O Reward
Reward

Question No.11

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

(A) O Sentimant
Sentimant
(B) O Tertiary
Tertiary
(C) O Socialy
Socialy
(D) O Temprary
Temprary

1.00

Question No.12

Fill in the blanks with suitable Preposition from the given alternatives.

The pen is the table
Fill in the blanks with suitable Preposition from the given alternatives.

The pen is the table
(A) O through
through

(B) O beneath
beneath

(C) O besides
besides
(D) O till
till

1.00

Question No.13

Choose the word which best expresses the similar meaning of the given word " MINIATURE "
Choose the word which best expresses the similar meaning of the given word " MINIATURE "
(A) O Small

Small
(B) O Avoid

Avoid
(C) O Important

Important
(D) O Large

Large

1.00

Question No.14

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Benifited

Benifited

(B) O Suppresed
Suppresed

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html
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(C) O Ambience
Ambience
(D) O Dimnished
Dimnished

Question No.15 1.00

Choose the word which expresses nearly the opposite meaning of the given word " FLAUNT "
Choose the word which expresses nearly the opposite meaning of the given word " FLAUNT "
(A) O Reveal

Reveal

(B) O Proclaim
Proclaim

(C) O Declare
Declare

(D) O Conceal
Conceal

Question No.16 1.00
Fill in the blanks with suitable Article from the given alternatives.

South India is area that includes the five southern Indian states
Fill in the blanks with suitable Article from the given alternatives.

South India is area that includes the five southern Indian states
(A) O a
a
(B) O the
the
(C) O No article
No article
(D) O an

an

Question No.17 1.00

Fill in the blanks with suitable Article from the given alternatives.

She eats rice everyday
Fill in the blanks with suitable Article from the given alternatives.

She eats rice everyday
(A) O an
an
B)O a
a
(C) O the
the

(D) O No article
No article

Question No.18 1.00

Choose the word which best expresses the similar meaning of the given word " ESCHEW "
Choose the word which best expresses the similar meaning of the given word " ESCHEW "
(A) O Love

Love

(B) O Keep

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 10/44
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Keep

(C) O Avoid
Avoid

(D) O Face
Face

Question No.19 1.00
Fill in the blanks with suitable Article from the given alternatives.

Bread is predominant food prepared from a dough of flour and water
Fill in the blanks with suitable Article from the given alternatives.

Bread is predominant food prepared from a dough of flour and water
(A) O No article
No article
(B) O an
an
(C)O a
a
(D) O the
the

Question No.20 1.00
Fill in the blanks with suitable Preposition from the given alternatives.
The match was dedicated Indian fast bowler Zaheer, who has announced his

retirement from international cricket
Fill in the blanks with suitable Preposition from the given alternatives.

The match was dedicated Indian fast bowler Zaheer, who has announced his
retirement from international cricket

(A) O to
to
(B) O against
against
(C) O from
from
(D) O since
since

SECTION 3 - GENERAL APTITUDE

Question No.1 1.00

A man is standing in a lawn facing North-East direction. If the man turns 45 degrees in clockwise
direction and 135 degrees in anti-clockwise direction, which direction will he face now?

SR BB DILPINTT 8 518 ePOS” G &T°) 0. &9 53 2OIE3S” 45 &fien LAk
050" 135 A AOADYONS, VB VD D OFL VDAV &) ¢O?

(A) O North-West
TeaiOg0

(B) O South-East
esﬁ‘lolbo

(C) O North-East
éa?"c‘é50

(D) O South-West

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 11/44
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Question No.2 1.00

A shopkeeper earns a profit of 20% by selling an article at Rs.438. Find the cost price of the
article(in Rs).
28 DY Rs.438 £ ey o TrT° 208 QuSPearrddd 20% ererdy ToOTED. €8 DD SVIVER

E) Do (Rs &°) S20f00d.
(A) O 385
385
(B) O 355
355
() O 365
365
(D) O 375
375

Question No.3 1.00

Find the average of 8 numbers 37, 49, 26, 53, 12, 61, 83 and 91.
37, 49, 26, 53, 12, 61, 83 2008030 91 950 8 SEENCRSIGVEY SN H0G.

(A) O 51.5
51.5

B) O 50.5
50.5

(C)O 525
52.5

(D) O 49.5
495

Question No.4 1.00

Pointing to a photograph of a girl, a man said, "She is the daughter of sister of my mother's only
sister." How is the man related to the girl?

08 erdE D) WV 208 DI, "0 o> $Yrd DTS 50 g, Tes08 Erdod” 0 BI .
28 DB &9 ePDELD DVHT°ED?

(A) O Uncle
wmoﬁ:zg/wwcﬁ)/bévé&

(B) O Son
O

(C) O Brother
s

(D) O Nephew
Dodeed / é‘meén@ APEE

Question No.5 1.00

Thanu ran 5km towards South. She then took a left turn and ran for 3km and after taking another
left turn, she ran 2km. She then ran 4km towards East and ran 3km towards North to reach the
destination. How far is she from the starting point?

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 12/44
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B 38690 DY SKM DEORBDG. €520 RHED i BV AL kM HAAAD, LTS et S
BR0ED 2km DAAGIG. B0 @RYE By PR 4km DDOAB, B (12050 BEWLD ExgG0 PLDD
3km 20RSIG. F6ozs Jodo Mo B0 Jod BFEHNES” &) &7

(A) O 7km

7km
(B) O 9km
9km
(C) O 8km
8km

() O 11km
11km

Question No.6 1.00
28t February 2005 falls on which day of the week?
28 223598 2005 T°60e5° Q Berd Hi006?

(A) O Tuesday
QoiFTSo

(B) O Monday
a0

(C) O Sunday
[LTaYerlolel

(D) O Saturday
3QT* G0

Question No.7 1.00

A fruit seller had some oranges. He sells 55% of oranges and still had 450 oranges. How many
oranges he initially had?
28 Dog DGO 5 EQ) T°00RD0E &%) 0. B 55% Tr002D0Ed WS BETS LT Ros® 450

TBoRDOERD EDNPT) €. DG’ VB 1 D) TOoRDOE &) 0N?
(A) O 600
600

() O 1000
1000

(€) O 1200
1200
(D) O 800
800

Question No.8 1.00

If January 1, 2016 is a Sunday, January 1, 2020 falls on which day of the week?
2050 1, 2016 e3&T°G0 900, 2550 1, 2020 oG0S’ D Far DB0H?

(A) O Monday
D doT°G0

(B) O Sunday
OIS0

(C) O Friday
BogaoeGo

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 13/44
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(D) O Saturday
3QT°G0

Question No.9

In a certain code language, if BLIND is coded as 2129144, then how is FAITH coded in that
language?
28 PBIER E& a0e’, BLIND &0 2129144 m £& 3%, es a8 FAITH e £& Sabescosoosd?
(A) O 619208

619208

(B) O 618209
618209

() O 916209
916209

(D) O 916208
916208

1.00

Question No.10

Find the next number in the series.
6,8,19,61,7?
AN 363¢5° 5000 Rog R0 Tl
6,8, 19,61, 7?
(A) O 249
249
(B) O 232
232
(C) O 252
252

(D) O 218
218

1.00

Question No.11

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
BN oL K08 DI DEB/K0S/ VLS 28 AN JoNERD JocidE'od.

(A) O Lessen
Lessen

(B) O Increase
Increase

(C) O Decline
Decline
(D) O Shrink
Shrink

1.00

Question No.12

If 40% of 'X' is more than 20% of 755 by 291, find the value of 'X".
X' &5° 40%, 755 &° 20% &) 291 deo)ed 29005, X' Deddd 008,

(A) O 1110
1110

B) O 1105
1105

) O 1115
1115

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html
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(D) O 1125
1125

Question No.13 1.00

The average of 4 numbers is 22 and the 15t number is 1/3 of the sum of remaining numbers.
What will be the first number?

4 c()ogp5e) 20580 22 500030 15 7003,05 e 7003,050 Zme_?oeS6 1/35 Hohd. DS 70031)5 AB?
(A) O 21
21
B) O 23
23
(C)O 24
24
(D) O 22
22

Question No.14 1.00

Replace the question mark with an option that follows the same logic applied in the first
pair

Duck : Duckling :: Horse : ?7?

8B 268" JJodeg B8 BT) VDB DVyEod’ 27 ¢s°) 3§ Savod.

Duck : Duckling :: Horse : ?7?
(A) O Colt
Colt
(B) O Kitten
Kitten
(C) O Puppy
Puppy

(D) O Lamb
Lamb

Question No.15 1.00

If in the number 9798346812, first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the fifth position from the
left?

9798346812 20834e5’, 200060 W0 WL 0B BT E2ANES” 200y, WD B
700:95&)“0;0&‘35 DT §000S" BN, LY Kol DD eg%‘éoeff S8y 908 D?
A) O

B) O
C)O
(D) O

AR NN NN OO

Question No.16 1.00

Karthik travels first 33 km of the journey at 33 kmph and the remaining 33 km at 66 kmph. Find the
average speed of the entire journey(in kmph).
5088 200683 33 km Hosrerd) 33 kmph o 208k WAV 33 km Hakreedy 66 kmph Sefod

DOIPoTre. Do HAITEI0 AE), Wit ey (kmph &°) S0 S0l
O

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html 15/44
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(A) 38
38
B) O 28
28
() O 32
32

(D) O 44
44

Question No.17

A Train travels at a speed of 54 kmph and crosses a signal in 41 seconds. Find the length of the
train(in metres).
28 Sew 54 kmph Sriod’ HOSredRrr 28 rf) S0 41 DL’ BIB. Jew FePI(ege’) ool

(A) O 645
645
B) O 635
635
() O 625
625
(D) O 615
615

1.00

Question No.18

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is A
related to E?

C & srdoth @ad B S A 538. D &0d 538 E & 806 dwdain C e 558 E aog) ady. A @00 O¢8 E
DT E>?

(A) O Son-in-law
D

(B) O Grandson
QODDED

(C) O Son
O

(D) O Nephew
200000/ S0 HJE

1.00

Question No.19

27 typists can type 27 lines in 27 minutes. How many typists are needed to type 54 lines in 54
minutes?
27 2006 B0 27 JPad 27 oared” 3520 Babrvdd. 54 G0 54 e’ G Soswwrd

oS00 B0V WHVGo VDT D?
(A) O 27
27
B) O 29
29
(C)O 25
25
D)O 23
23

1.00
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Question No.20 1.00

Find the value of (a4-b4), given that (a2+b2) =130, (a-b) = 2 and (a+b) = 16.
(a2+b2) = 130, (a-b) = 2 Lo6a3w (a+h) = 16 waSS’, (a%-b?) Dewdo EOFHod.
(A) O 4260

4260

(B) O 4360
4360

(€) O 4160
4160

(D) O 4460
4460

Question No.21 1.00

Find the value of a2-b2, if (a+b) = 32 and (a-b) = 4.
(a+b) = 32 B0k (a-b) = 4 oIS, a2-b? Dendd EXFBA.
(A) O 136
136
B) O 132
132
() O 140
140
(D) O 128
128

Question No.22 1.00

If in the word CALIFORNIA, all the consonants are replaced by the previous letter in the alphabet
and all the vowels are replaced by the next letter then all the letters are arranged alphabetically,
which will be the sixth letter?

CALIFORNIA 5350065, 3guen @00 o3 83705’ 2000650 g 6o 58 B2 0soyen @) 0B
BETD L6 23§ B, P es\io“e)“()loe?)b VES gH0H0ES" ABNIT, 8D wEG0 I?
A) O

B) O
(c) O
(D) O

AX e mm UTTDO

Question No.23 1.00

Find the next number in the series.
17, 18.5, 21, 24.5, 29, ?
B Be3S” B0 Doy SROFV0d.

17,18.5,21,24.5, 29, ?

(A) O 36
36

(B) O 34.5
345

(C€)O 35
35

(D) O 355
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35.5

Question No.24 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
‘a&aé Do Aod e;’)é‘l :{Jcsaw.)/“coogngl 985 26 90DVD DoNEX JocwEod.

(A) O NM
NM
B) O LT
LT
(c)O CB
CB
(D) O YX
YX

Question No.25 1.00

A man buys a CCTV Camera for Rs.1440 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).

28 558 2.8 CCTV 820070 Rs.1440 £ £ 15% H3d8 Dgowoered. CCTV 8200 clog), 0oy

Do (Rs &°) 808008,
(A) O 1224
1224

B) O 1220
1220

(C)O 1222
1222

(D) O 1226
1226

Question No.26 1.00

Find the value of X, if 25% of X + 40% of 65 = 52
X &5° 25% + 65 ¢5° 40% = 52 9005, X DendHdd €0 N0,

(A) O 112
112
B) O 116
116
() O 108
108
(D) O 104
104

Question No.27 1.00

The average of 7 consecutive numbers is 37. Find the sum of 7 numbers.
7 5B Roge Wit 37. &8 7 Dogw DT ST DG

(A) O 289
289
(B) O 279
279
() O 269
269
(D) O 259
259
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Question No.28

In a certain code language, if ABOUT is coded as EDRWX, then how is DAILY coded in that
language?
28 PBEEDOD €& o7e5°, ABOUT &0 EDRWX e 8& 89, es 2o DAILY der §& So5ecidresod?

(A) O CPMEH
CPMEH

(8) O WZROB
WZROB

() O DGLBO
DGLBO

(D) O GDLOB
GDLOB

1.00

Question No.29

97+6x13/(312+4)
97+6x13/(312+4)
(A) O 96

96
B) O 92

92
(C)O 98

98
(D) O 94

94

?
?

1.00

Question No.30

Find the value of (a-b), given that a2+b? = 905 and ab = 308.
a2+b? = 905 2083w ab = 308 @andS’, (a-b) Dewdd HFdod.
(A) O 17

17
B)O 15

15
c)O 21

21

(D) O 19
19

1.00

Question No.31

If 21% of A = 41% of 21, what is the value of A?
A S 21% =21 &S° 41% 9005S, A Dend doch?

(A) O 42
42
B) O 43
43
(C)O 40
40
(D) O 41
41

1.00

Question No.32
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Replace the question mark with an option that follows the same logic applied in the first
pair

Cease : Finish :: Applaud : ??

208 BSS° HPodeg 03 STY) VHDBoL DVyEod 27) g5 @8 Sowod.

Cease : Finish :: Applaud : ??
(A) O Criticize

Criticize
(B) O Blame

Blame

(C) O Cheer
Cheer

(D) O Discourage
Discourage

Question No.33 1.00

A is twice efficient than B, who can finish the work in 52 days. How many days are required by A
alone to complete the entire work(in days)?

28 0D 52 Bererss” 10 Sodore B €7°) A Soch B8 28081¢. Bdo DI 2,001 30 Skt A
€0 ) Faren w5060 wporan(Eereos’)?
(A) O 26
26
B) O 36
36
() O 22
22
(D) O 32
32

Question No.34 1.00

Which of the following years is a Leap Year?
806 RodSVTrOS” B WodE G D&?

(A) O 369
369
(B) O 371
371
() O 370
370

(D) O 372
372

Question No.35 1.00

Find the next number in the series.
148, 187, 161, 200, 174, ?
QDY Be3S” BEODO Doy EXOFV0E.

148, 187, 161, 200, 174, ?
(A) O 228
228

(B) O 226
226

(C)O 213
213
(D) O 215
215
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SECTION 4 - DOMAIN - MECHANICAL ENGINEERING

Question No.1 1.00

A component can be manufactured with an investment of Rs. 2,00,000/- as a fixed cost and
Rs.200/- as variable cost. The component can be sold in the market at a price of Rs.300/. What
would be the break-even point?

208 DR Rs. 2,00,000/- © ?86 oo Swdakn Rs.200/- w56 dyos0 (Doasrenes Q) 33%31)&)&3

SOIPEDBADDN. €8 SRD0 2T E° Rs.300/ (6L GO0y, B5 DS Jrawots Jos?
(A) O 3000

3000

(8) O 4000
4000

() O 2000
2000

(D) O 1000
1000

Question No.2 1.00

A body of weight W lying on a rough plane inclined "a" deg to horizontal is subjected to a
horizontally applied force (P4), let angle of friction is ®. The minimum force (P4) required to keep

the body in equilibrium when the body is sliding downwards is

R,
L

—

£328 oA Tren SOHAAIND) w8 ABLH SR &)W 0808 GR) 2.8 DX w8 EBRRIr0SE
03" HOIPNoeIEN Lo (P1)ed S°Ha08. Dude o ® M SR8, &8 DY BHJLH
BPEBOD) LN T {om@‘?ga& 03RS DDA & oo (Pq)
(A) O W sin (a + ®)
W sin (a + @)
(B) O W tan (a+ ®)
W tan (a + @)
(C) O Wsin (a-®)
W sin (a - ®)
(D) O W tan (a - @)
W tan (a - ®)

Question No.3 1.00
Which type of the hammer is used for spreading the metal in one direction?
'35 2,8 B3 DYOODBADTEIS D BERVD HEEL EDAPAFE?
(A) O Straight pein
RO D

O

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html

21/44



1/17/2020

(B)

Cross pein
0 2D

Ball pein
5 DO

Claw hammer
T Db

Mechanical

(A) O

(B) O

(C)O

(D) O

Question No.4

Grade 3
8& 3

Grade 4
3& 4

Grade 1
g& 1

Grade 2
8& 2

Which grade of surface plate is more acceptable than other grades?
BBES B¢ S8 BBYD HE Bog), D GE YD WoASEBTRODG?

1.00

(A) O
(B) O

Question No.5

o/d
o/d

20/d
20/d

4o/d
40/d

8o/d
8ao/d

The pressure inside a water droplet where d is the diameter of the droplet and o is the surface
tensionis
D8 Do S§RB0 d BO0KN BBV T VOB € I Dotk S0 &0l Dedo

1.00

(A) O

B) O

Question No.6

Gib head key
fes =& &

Taper key
€56 &

(C) O Flat saddle key

FE a5 &

(D) O Hollow saddle key

33665° &S5 &

What type of key is used in coupling a pulley with a shaft?
28 O IS €30h SALEAS D B & 0 EDAPAYE?

1.00
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Which instrument is used for levelling of the machines?
1P TDDoh EGL D VOST D EDAFHIW?
(A) O Straight edge
20008 A&
& £
(B) O Test mandrel
8 arjosS

(C) O Dial test indicator
oS BF 0dEes

(D) O Sprit level
bbaés TS5

Question No.8

Which gauge is used for checking the small diameter of holes less than 12.7 mm?
12.7 mm ot &) TP§R0 S0 FFSy 3D BaHErAS D FEL SOAPAFEH

(A) O Telescopic gauge
DO 28 6

(B) O Small hole gauge
3\ S IS AE

(C) O Profile gauge
TS a6

(D) O Plug gauge
0 6E

1.00

Question No.9

is

(A) O
B) O
() O

(D) O

A differential manometer connected at the two points A and B in a pipe containing an oil with a
specific gravity of 0.8 shows a difference in mercury levels as 100 mm. The difference of pressure

0.8 D—?:e.al (LSS Lvo SO 23000850 sé)noapa_l 28§ ees)sj.)aé6 A S08030 B o 5¢ ge0HE &) 28
EHOJODS BrSAeb FB6R Logreres® 100 MM SR BPHZ06. €8 Gotd DoGIPRL &G DD
5.55@"5{00 doeh

1.28 m of water
1.28 m of water

1.24 m of water
1.24 m of water

1.36 m of water
1.36 m of water

1.45 m of water
1.45 m of water

1.00

What is
A) O
B) O

) O

Question No.10

the depth of BA screw thread?

BA 2o, 8& 308 &8 A0 ?

0.64P
0.64P

0.61P
0.61P

0.7035P

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Mechanical.html

1.00

23/44



1/17/2020 Mechanical
0.7035 P

D)O 0.6P
0.6P

Question No.11 1.00

Calculate the length of the rivet for snap head. If the diameter of the rivet is 10 mm and thickness
of the plate is 18mm
8dE5 g0 10 MM BB HES &06H0 18MM TP RBEIEIZDE, bjlfa & §65 88 e

(3} éboiﬁo&.

(A) O 26 mm
26 mm

(B) O 33 mm
33 mm

(C) O 28 mm
28 mm

(D) O 30 mm
30 mm

Question No.12 1.00

The binary form of a decimal number 56 is ____
5703 Doy 56 ABog); 898 6rdo

(A) O 110100
110100

B) O 111100
111100

() O 101101
101101

(D) O 111000
111000

Question No.13 1.00

Which type of bush is to provide a hardened hole where renewable bushes are located?
BRRg9e0S LD €)Y DD BOPLAD GogoeS” D BEROD LPDORY JT°EBAr?

(A) O Plain bush
200N &0
(B) O Linear bushes
D006 enSHew
(C) O Slip bush

FSEAVI]

(D) O Liner bush
g6 ana

Question No.14 1.00

Hoop stress or circumferential stress in a thin cylindrical section can be calculated by a formula

___where 'p'is the intensity of internal pressure, 'd' is the diameter of the cylinder and 't' is the
thickness of the cylindrical wall.

208 DD é}.)‘b?d 206B0(BS DOoGES DES) ABE); AP PO ST DG, 0DONTIAS RS

QBB TPO° ST DDy, BE) E P'ODO WoddS DD AR, ‘d 0D Q00 T°gR0 BB R SNTA)
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Q0 e a3og); B0,

(A) O

pd/2t

pd/2t

pd/at

pd/4t
) O

pd/8t

pd/8t

pa/16t

pa/16t

Question No.15 1.00

To measure the velocity of a submarine, differential manometer is fitted at the tubes of the static
pitot tube. The formula for measuring the dynamic pressure head where 'y' is the manometric
difference, S, is the specific gravity of manometric fluid and S is the specific gravity of liquid

flowing through the tube is
28 VST D) FOdTEAS, APOJ0DES ArSAeb FOE ES targene Feodg DAF®. 'y 036

2PEAADH [R50, Sy VO 2PEBAD HTTeT B0, DI DS 100, LBS S ©JI& e.u"saSeS‘
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VOTROD) Qdo G DIY MHES(RIVO oS (B DED JB0 (ZOE b &) 0 TRt rgo
(A) O
Ah=y(S_m/S—1)
Ah=y(S_m/S—1)
B) O
Ah=1/y(S5/S_m—1)
Ah=1/y(S/S_m—1)
(€)O
Ah=y(S/S_m—1)
Ah=y(S/S_m—1)
(D) O
Ah=1/y(S_m/S—1)
Ah=1/y(S_m/S—1)
Question No.16 1.00
What will be the result if the carbide tools are operating at low speed applications?
5836 ey DRy D DGV DG DIBR0E DB DE?
(A) O Increases of tool life
&S SIS0 VoSV
(B) O Spoils the workpiece
SRERIRVDI0 OBR0O
(C) O No effect on tool
€530 DD0 0L
(D) O Reduce the tool life
0SS IS SHR0O
Question No.17 1.00
What type of knot is used in ropes for lifting light loads?
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B TR0 P FOEAS Tovy(FDO1)D D S8R0V TE(20E)D SDWEFHFW?

(A) O Slip knot
D &

(B) O Square knot
?0656 N

(C) O Bowline knot
FOS o5

(D) O Clove hitch knot
£5 1S i

Question No.18 1.00

What type of belt is having more chances of slip in power transmission?
D6 EPOYWNDS’ D 68 BY JO(270V° D> IS H0) & WHLT EDH eot08?

(A) O Timing belt
Booh 83§

(8) O Ribbed belt
0ed 8¢5
G [5)
(C) O Flat belt
FEB8S

(D) O V belt
Vag

Question No.19 1.00

A uniform girder of length 8 m is subjected to a total load of 200 kN uniformly distributed over the
entire length. The girder is freely supported at its ends. The maximum bending moment acting on
the girderis

8 M TP S0 28 DBOTGRI0 SO (586 TS DBV Deseocseacd 200 kN 2o 0edS

&S H000508. (186, TR Tocd VDGR DG DIINT 5o BoAC: €06, WaNS &8 (860 DABRD) AOR
80600 BT (HY graEo)
(A) O 400 kNm

400 KNm

(B) O 1600 kNm
1600 kNm

(C) O 200 kNm
200 kNm

(D) O 800 kNm
800 kNm

Question No.20 1.00

What will be effect on, If sulphur content increases in a steel?
&S’ DONE TBo DONS IR &0l Ve E?

(A) O Hardness
6%

(B) O Brittleness
DSBS (WMD)

(C) O Toughness
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LDV

(D) O Tenacity
B

Question No.21 1.00

The resistance offered by a material to indentation is called
53"%3(‘90&0&35.15) fbdbcéé.)oc:" DErgo B0 _ o) ___ @otrdd

(A) O Fracture
ENS

(B) O Hardness
SIS
G
(C) O Toughness
DI

(D) O Ductility
<398

Question No.22 1.00

The most suitable abrasive for grinding hard material like, ceramics and tungsten carbide material
is
2T QEY BB L20AYD SByE e5°::3°:3c:5°g°v Hotd 865 DR Jociof Sadcio SGLDH edjod @D

BRSO (068 HEeGo)
(S} (o]

(A) O Diamond
G0k

(B) O Silicon carbide
2O S"Q’)&

(C) O Aluminium oxide
A0 83yE

(D) O Boron carbide
S0 8y&

Question No.23 1.00

In this milling process, two cutters are mounted on an arbor and are used to machine two parallel
surfaces on the work piece.
& Q08of HIOLES’, 28 866D Tockd SBRD DTPYBADEIE E0EPON BO0KN WD HE) BV ot

P0G HPOR DND BANEEIS &N ALILIETON:

(A) O Straddle Milling
«2‘&6 ok

(B) O Slotting
J&3of

(C) O Form Milling
36, DoBof

(D) O Slitting
2806
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Question No.24 1.00

A micrometer has positive error of 0.02 mm, what is the correct reading when the micrometer
measures 47.98 mm?
28 286 0.02 MM GIEX) $96 06, PEWLE 47.98 MM Bord SR eSS 8doh Jods?

(A) O 47.94 mm
47.94 mm

(B) O 48.00 mm
48.00 mm

(C) O 47.18 mm
47.18 mm

(D) O 47.96 mm
47.96 mm

Question No.25 1.00

The GO end of plug gauge is used for checking
26 68 cog), H(GO) do&ad 20 3JDBANTEAS OO

(A) O Minimum limit of shaft
Y AE), £ DS

(B) O Maximum limit of shaft
g 0g); (5053 DR

(C) O Maximum limit of hole
S qiog) (1053 DS

(D) O Minimum limit of hole
FS o8, 0 e

Question No.26 1.00

Which one of the following is not a high pressure boiler?
808 TS’ HE DED eraLOE(Rr P2 erawd) S°IG D&?

(A) O Lancashire Boiler
erjostb eraned

(B) O Velox Boiler
Der§y eraneod

(C) O La Mont Boiler
&P 3ot eroned

(D) O Benson Boiler
58035 eroned

Question No.27 1.00

What is cutting speed of drill for drilling aluminium material?
TR0 D) &80f Fo0ErAS GS g oh Drfo Dodd?

(A) O 5to 8 m/min
5 &0o& 8 m/min

(B) O 70 to 100 m/min
70 &oc 100 m/min

(C) O 20 to 30 m/min
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20 Svo& 30 m/min

(D) O 35 to 50 m/min
35 200& 50 m/min

Question No.28 1.00

Which term is used in Japanese language for clearly distinguish needed from unneeded and
eliminate the latter?
2ODD S’ DBVERVD T8 Kod B0 S eI QYR (o) B5S0 G TP FONoEIS

&DATAO DG AAE?

(A) O Shitsuke
Shitsuke

(B) O Seiri
Seiri

(C) O Seiton
Seiton

(D) O Seiketsu
Seiketsu

Question No.29 1.00

What is the angle of the punch used to positioning the divider?
GDEER0 SDRD P08’ GodtrdS &dABrAo Dod Svo Jod?

(A) O 30 degree
30 &fen

(B) O 60 degree
60 &hHen

(C) O 15 degree
15 &fen

(D) O 90 degree
90 &fen

Question No.30 1.00

While turning, the formation of chips depends upon the
€0 0ff DBADES” DDy DByt DG D BEPEDEBI0E

(A) O Clearance angle of tool
eeS AB0E); $oBDY aironS

(B) O End cutting edge angle
do& 880h «Dé odrohes

(C) O Rake angle of tool
rS e 35 airodd

(D) O A clearance and wedge angle of tool
eared 03‘)‘)51; 28 §o:50650 Eoblelovbh) bg adrofed

Question No.31 1.00

With in the elastic limit, Young's Modulus is the ratio of
ROFDY ©IHS’, 0kvofh thoeego og), A S.
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(A) O direct strain to volumetric stress
VYL DEHAS oIV PBrIS

(B) O normal stress / normal strain
Do P3O | Do DL

(C) O Shear strain to shear stress
DTN (A0306) DEYBS DAL HBIPIS

(D) O Shear stress to the rate of shear strain
DTN (A0306) DNeIPAS DATEID DEyB B

Question No.32 1.00
A quick helix drill is used for drilling material
8 88 D8y G50 D) Ghohl BoNEEIS GDAEPHIE

(A) O Castiron
R D6

(B) O Plastics
8,
®

(C) O Gun metal
630 e

(D) O Copper
o°fH

Question No.33 1.00

What is the reason the parts are not heated above the critical temperature in nitriding process?
DBGoh DIES” e Dodl GY'(S (3BES HoTe6) L LD HE BoED DB SGrao IS?

(A) O To speed up the process
08000 Dridotto BODEAS

(B) O To avoid warping
J°Byofido aagngé

(C) O To reduce the time
;()mcw*’f{)‘l égoémbé

(D) O Gas does not support
TO305) DLPEBOTIED

Question No.34 1.00

A homogeneous slab of 4 cm thickness with its two faces are maintained at uniform temperature

40° C and 20° C.The thermal conductivity of the slab material is 0.2 W/mK. The rate of heat
transfer per unit area is __

& Bocd Hesren 40° C 208080 20° C 56 &) 4 CM Hwoto &) 28 DB docso
ge(Homogeneous slab) JreS eod. ¢S DErgo Bog); &R T7rES 0.2 W/mK. osardes p7reryds el
ea&g)_

(A) O 100 W/ m?2
100 W/ m2

B) O 50 W/ m?
50 W/ m2
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(C) O 400 W/ m2
400 W/ m2

(D) O 200 W/ m2
200 W/ m?2

Question No.35 1.00

Which type of finishing process is suitable for finishing hardened holes?
3599 BaHecd Gogroiy P FaNEIS D BER0D HINCA HEOH SHVE?

(A) O Lapping
er§doh

B) O Buffing
eyaoh

(C) O Scraping
J)d0h

(D) O Polishing
JeO0H

Question No.36 1.00

What is the name of the process of removing metal by a cutter which is rotated against the
direction of travel of the workpiece called?
SPEORVD) SOT BILD I BOF 208 866 Teoe eSGb‘f\’)‘l Sohod HSo 9 908

(A) O Up milling
©d ok

(B) O Down milling
&5 Do

(C) O End milling
Qo& doh

(D) O Face milling
55 2o

Question No.37 1.00

A turbine flow meter is preferably used to measure
28 &3S §° Qerbo 20 EOIEIS PTrafomr GOATAF .

(A) O low viscous and high flow measurements
DOy D) S HBAID WRE Yoo Svden

(B) O high viscous and low flow measurements
RS D) (S L0ak oy oo Svden

(C) O low viscous and low flow measurements
DLy ) (S 2odain oy Yo Svden

(D) O high viscous and high flow measurements
9 HE %&Qé S0003L WY s Swdsen

Question No.38 1.00

In a gear, the pitch diameter is divided by number of teeth is called
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28 68, DV oD DE TgRHN A0S T 29080
(A) O Crest

89

(5]

B) O Pitch

5
(C) O Module

wczr56

(D) O Land
erso&

Question No.39 1.00

A machine component is subjected to a flexural stresses which fluctuates between +300 N/mm?

and -150 N/mmZ2. Assume yield strength and endurance strength are 0.5 times the ultimate
strength and the factor of safety as 2. The value of ultimate strength as per the Soderberg
equation is

28 adog &rio PLNBHVLD S°RADY DBLTPVL (PEYBS g’.ofo) S DSB8, & Aeeren +300
N/mm? so8a0 -150 N/mm? 2065 és000. e 208 206050 Jotir§Boy Yoden @0t 20 Kot
0.5 8¢ QKo™ &%) 0 LOOSL “5”555 e fo?g 2 e.:‘() $0rie30t504. §5°c$5&§ :)bosasao Q@d:@géoes
:‘?3“5 adog), dewd__

A) O 800 N/mm

2

800 N/mm?2

B) O 600 N/mm2
600 N/mm?2

2

2

(€) O 400 N/mm
400 N/mm

(D) O 1200 N/mm2
1200 N/mm?

Question No.40 1.00

In a gear, the radial distance between the pitch circle and root circle is denoted by
08 B8, 06 DO)S 2000k B DO SR 6 €0l SEAS(Eogm) Sroey RESUIALS Jo
(A) O udfu
lidfll
(B) O llhall
lihall
(C) O ndbu
“dbll
(D) O llhfll
“hfll

Question No.41 1.00

According to Indian Standards, the total number of tolerance grades are____
EBAD PAFEPL PSG0, Dwdo PV Gedw Doy

(A) O 20
20

B) O 12
12
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c)O 8

8
D) O 18

18

Question No.42

The crest and root of unified thread is
OB IPE & ) 5 00050 S (Fyorio 0% el)

(A) O Sharp
6y (Dc0)

B) O Flat
(o)

(C) O Half radius
D BEaDR (g F§J°go)

(D) O Round
Go&(rogso)

1.00

e95°50e5° 0800

Question No.43

The triangle symbol indicates in lubrication manual /charts to apply

(A) O Weekly
J°o°dS

(B) O Monthly
INISISV)

(C) O Fortnight
DS

(D) O Daily
Bared

1.00

lubricant on basis

rQENRD JrufOS/EHOS D eerss Doddo 280 LPDE0E5H DA WD,

Question No.44

208 060k Bewe B DE6 WY EDAPAISEEIS S0 5760 DG?

(A) O Pulsating load
OTETOE &rad S°6 (D5yBoh S°6)

(B) O Centre distance between the two pulley is more
Boty Yo ey G0 WAL Gotsero

(C) O Misalignment
QJVTJY 08

(D) O Driver pulley is over load
£96 208 L3FE sdco

1.00

What is the reason idler pulley is used in between pulleys and belts?

Question No.45

The number drill series consists of numbers from
Soedd &&5 286D Doeago £OH eotwod.
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(A) O 0to80
0 00& 80 56

(B) O 1to 80
1 &od 80 6%

(€) O 0to 100
0 00& 100 56

(D) O 0 to 50
0 o0& 50 HB%

Question No.46 1.00

The suitable cutting fluid for precision grinding machine is
DDA Gocoh 202D EELH BHD Sdoh Prowd

(A) O Synthetic soluble oil
2065¢38 bvwvswes esoeS

(B) O Servocut"s"
28 8¢5 "s”

(C) O Neat oil
D5 e2000€5

(D) O Soluble oil
&w{gwé e30065

Question No.47 1.00

What is the property of a metal is its ability to resist the effect of tensile forces without rupture?
DB (HOSLOE BdF PO PBPBD &< dBog) 5“;”8"53.1 & '3 Aog), D GGy Bw

9 e90EFPH?
(A) O Hardness
FOISINIS)
[~
(B) O Toughness

ODID

(C) O Tenacity
IR TS

(D) O Elasticity
DAFHES
® &

Question No.48 1.00

What is the effect on cutting tool, if the wedge angle decrease on lathe cutting tools?
IS £80h S D DE E'so 3OS SB0h PSP Jerod Herdo Gotod?

(A) O Tool strengh will decrease
ered ";\305 Bt d0d

(B) O Helps to good penetration of material
i.’ocr’go 031356 észyéb EISIAOISEURATe Jev Do Tat t UTYa)

(C) O Tool strength will increase
€ared ?8059 Folobla b VTeYa)
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(D) O Weak on cutting edge
&&30H Dg:.g DOITPHOMT &otwod

Mechanical

Question No.49

The deflection of the arc by means of the magnetic fields set up due to the flow of the welding

current is called as

29of ET0t5 PITT0 SPEEOTT DT YBR WODI 08 PV TPIT° DBYE BOA (€56)) TN WDJGTY

€9 9oL

(A) O Undercut
0C5) &5

(B) O Arc Blow
o &

(C) O Arc Crater
9356 geb

(D) O Weld Bead
S HE

1.00

Question No.50

What type of fit it is, if shaft and hole 20H7/g6 indicate?
Y 0008w 35S 20H7/g6 D XD, 96 D SR E?

(A) O Push fit
3D ¢S

(B) O Clearance fit
éo’.ﬁa:‘)b &

(C) O Transition fit
@":)D’Q‘FO ¢

(D) O Interference fit
f;?oé.)éi,)Oi)&%b 28

1.00

Question No.51

What is the lower limits of 27mm hole, if limits of Hole is ES= +0.032 and EI=+0.012 mm?
Goglo G20, dAogw ES= +0.032 and EI=+0.012 mm eand, 27mm Sogo a308); S°aDd Oy

D?
(A) O 26.968
26.968
(B) O 27
27

(C) O 27.032
27.032

(D) O 27.012
27.012

1.00

Question No.52

What type of jig is used when the job is located from it's face of the jig?
26 DOLBHN B00C 25 BT oDBIDYED D BERD RAXL EDATHFD?
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(A) O Plate jig
5 2f

(B) O Post jig
D°Q 26
(5]
(C) O Table jig
&Senes 26

(D) O Leafjig
05 26

Question No.53

The air standard efficiency of an otto cycle depends on

28 665° 085 Boog), dond Jockd o)i)inombb (seos0 Hoes .avmgzsa») D BREOEIS00.

(A) O compression ratio
EoAD(Xo1ED) g

(B) O Pressure ratio
D DD
(C) O cut off ratio

(D) O Compression ratio and pressure ratio
EoRD(R0DER) D 0BAK D Dy

1.00

Question No.54

Which type of coupling is capable for high speed and high transmission of power?
33(POWER)D e26¢ rioS® ©00gom Hirdo Sotnts 6 D 652 $ofien DGBDosRRd?

(A) O Chain coupling
DO 2306

(B) O Gear coupling
46 8206

(C) O Spider
2,66

(D) O Flexible coupling
D3y 8306

1.00

Question No.55

The scalar function of space and time such that the negative derivative with respect to any
direction gives the fluid velocity in that direction is known as __

Q &% DO 22060 WISV BRDRDN D & &3e° Horer DY) BINOIT €08 HBFo LBASL
RDOIrL BT Haoado

(A) O velocity potential function
S5 38} HI00DBW (DB FEJoDS HogR)

(B) O stream function
QT3P QOO (Ro DoLD)

&
(C) O circulation
‘c'\)d)bzsej‘éx%
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(D) O vorticity
g™

Question No.56

Oldham's coupling is used to connect two parallel shafts
8,535 50 80bx B0 DAT0SES PO SUDERAS EDATHF D

(A) O which are perfectly aligned
SO\ S0P Loy (TD) Bosedd

(B) O which permits some degree of misalignment
Fo86 DL EY(DHOTHA00E) & w0HB0D

(C) O which are coincided exactly
Sr:)()éon" a)oéoé.)é.)oe.l)c‘é‘l

(D) O whose axes intersect at a small angle
e 2ETITED DUy Errod CeRDHD

1.00

Question No.57

A control chart displays
28 EoS’S T§ (Japoges HYS) 0 DEB0YR00

(A) O Top Management's interest in quality
Jeeagdh D BID) & AT IS 6 S

(B) O Process Capability

Q8oH avmgﬁm (0D EHDBY)

(C) O Inspectors are doing their jobs
QRVNEE T8 DGOV DELBROT™) 8D

(D) O Process Variability
L80HS’® SeBDHI Brtryen (DD H8aHHL)

1.00

Question No.58

A single acting two stage air compressor with minimum power and perfect intercooling delivers air
at 16 bar. The suction pressure and temperature are 1 bar and 15 deg C. The intercooler pressure
is

&% 5"5).)%0(‘&)&‘)5) 208030 RoJY RoedErdoh (o 2.8 VNS airgoh e fgc"s Dod Koa3dd 16 erbo

A DGR BB, VES(Fer) e DOOIH ST FBD DI 1 &rd dosw 15 & C eowd
Q06806 o .
A) O

B) O
C)O
(D) ©

0o AP OO NN

1.00

Question No.59

Which one of the following casting process is called lost wax process?
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(A) O

(B) O

Mechanical

€06 D 5°R0h DB er) Tm55y(lost wax) Do & woerdn?

Pressure casting
226 s7Qof

Slush casting
VA 5°0H
© e
Investment casting
QD05 s°Q0hH
[A) [A)

Vacuum casting
TPEg0 S°R0h

(A) O

B) O

() O

(D) O

Question No.60

What is the reason for providing a chip breaker in broach tool?
'S eSS’ OO H8bad Doyt BoErDS go 5260 DE?

To control the chips
DD daDoBoerds

To reduce the chips
DD BHoseS

It has low rate of production of job
o ®Oy eed &TPNOES e

It has high rate of production of job
o* 9OE eed STP\OES 3ew

1.00

(A) O

) O

Question No.61

A close coiled helical spring is to carry a load of 225 N and the mean coil diameter is 10 times
than the wire diameter. The wire diameter is 15/ [ mm. The shear acting on it is

28 §8 57008 310G D)o 225 N 2r0rd) rrairdy eod 00akd 8 TgRo ol WD TS
GO3PEB(RT0 S0 T°5RB0) 10 BE €08, A g 15 / [ mm. B3 HABD Ddresdo

100t N/ [mm]) "2

100 N/ [mm) ~2

80 N/ [mm] "2

80 N/ [mm] "2

40t N/ [mm)] "2
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40t N/ [mm)] "2

(D) O
20 N/ [mm] ~2
20 N/ [mm] ~2
Question No.62 1.00

Heating the steel to the austenitic temperature and subsequently cooling it very slowly is called

%&:&3 58 eg‘gésa JEBD & ST OBILY AT T SPRIGNTY) 9D 9otrdd

(A) O Annealing
@) Dof (20063 268dE6e0)

(B) O Hardening
1.1352305

(C) O Normalizing
T GRoh

(D) O Tempering
080h

Question No.63 1.00

Which safety device is used for protection of body from hot particles?
D& P0G FOT°D) SPACOEITIS DTS VoBLE DOECAD B?

(A) O Leather coats
56 Sen

(B) O Leather aprons
T8 D

(C) O Helmets
b"ej’&g_p

(D) O Leather screen
Ses6

Question No.64 1.00

What is the main use of maintenance records?
0000BIDY BEHL PEPR &0 DAS?

(A) O To operate the machines
AP0 BEDTEAS

(B) O To find the fault
S* PO SR QLK
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(C) O To analise the causes of fault and recification
SIS g0 SEFOD DFN0D) DO BOOLH

(D) O To find the parts
PP S0 0L

Question No.65 1.00

Which of the following advanced machining processes may produce residual stress?
800 TPDYE D20k HEHOS® DB WHFA VB (TVEVS D) M IBYWRR?

(A) O Electro-Chemical Machining
VE’ -80S 0ok

(B) O Abrasive Jet Machining
0525 865 2>HJok

(C) O Electric Discharge Machining
QUESE G 6 2000k

(D) O Electro-Chemical Grinding
Qog -8ES Qo&oﬁ

Question No.66 1.00

In three jaw chuck, the crown wheel is made of
A o 36, £ DS B SA3G)R0H

(A) O Alloy steel
wgro /S

(B) O High speed steel
a— (5]
(C) O High carbon steel

(D) O Carbide material
S8y G DTrgaw
Q

Question No.67 1.00

Which grade of slip gauges is used for tool room applications?
DD Ao g D GEL LS Bro WRVHETV EBLH GOBTAFED?

(A) O Grade 2 accuracy
86 2 o560

(B) O Grade 00 accuracy
& 00 o356

(C) O Grade 1 accuracy
8& 1 a5

(D) O Grade 0 accuracy
86 0 asirgog6

Question No.68 1.00

Which type of pump is used in hydraulic system to run low noise and high flow rate of flow
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applications?
BL)D 308 WO IV SV BPTNPHRO HEDEEIS TGOS HEHRS” D BED VoY

EDATAFE?

(A) O External gear pump
D50:8) S 66 005

(B) O Vane pump
D Dod

(C) O Radial piston pump
BEaS HHS HoD

(D) O Internal gear pump
'a?oe.)d'les 336 LoD

Question No.69 1.00

The following statement refers to" it is impossible to construct a device which operates in a cycle
and whose sole effect is the transfer of heat from a cooler body to a hotter body".

"208 BG0ES" DIV 2.8 SV DY) Aod DE SN e‘g°‘3§, 226 Boco SrgH T 10
Qerdorr $8A ol w8 DBST) Y otcio 295"(:_550". 83 PELD BAD BB

(A) O Joule- Thomson Effect
365 - PO FSTALSST)

(B) O Carnot's theorem
s"o*"les ?O(g’oéo

(C) O Kelvin-Planck Statement
88D of e

(D) O Clausius Statement
TPACHD TS

Question No.70 1.00

In a resistance thermometer, a metal wire shows a resistance of 500 ohms at ice point and 540
ohms at steam point. Then, the temperature when the resistance measured is 532 ohms is
28 BRRPDY o7 0 28 S'irlD A7 500 &S00 DT DD Jan0tS(00u L) S Ldak 540

Lov B ey 00 DY HOBYROB. Bad, DE'S0 532 Luanent EbdedoR)Nw Gok e (s

(A) O gpoc
90° C
B) O 700¢C
70°C
(C)O go°oc
80° C
(D) O gpoc
60° C

Question No.71 1.00

How will you identify, if the lap surface is not fully charged ?
D &D0B0 QP Do SED’B T AT WYFE?

(A) O It gives blue colour appearance
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98 DY Gord TPADA RO

(B) O Bright spots will be visible here and there
E) GE) & VS BDoBR0D Dsyen EDDIaW

(C) O It gives dark colour appearance
298 VW GorD PO YL

(D) O It gives dull colour appearance
096 V0D Bord TPAR VRO

Question No.72 1.00

Which one of the following is a tangential flow turbine?
DBS’ eroBJ0S T 0T3S I6?

(A) O Pelton Turbine
DD BN
(5]

(B) O Kaplan Turbine
8D B

(C) O Modern Francis Turbine
ATES TN BN

(D) O Propeller Turbine
Tob 083

Question No.73 1.00

The forces which do not meet at one point, but their line of actions lie on the same plane are
called

28 Do DG sw{ooéssozabéé T8 Wory BPO 28 Bwop $8A ol POk 9 90ETEd

(A) O Coplanar non-concurrent forces
DIPBHO0H WHASOD Leren

(B) O Non-coplanar non concurrent forces
DT B2 VBT OD e

(C) O Coplanar concurrent forces
2B H0SOD eeren

(D) O Non-coplanar concurrent forces
DIPBO BT DIVSEOD LreTre

Question No.74 1.00

At what temperature the drills and mill cutters are tempered?
&Sy 000500 DS SR D ET'ES DG So0b Bodercran?

(A) O 3400C
340°C
(B) O 280°c
280°C
(C) O 300°C
300°C
(D) O 240°c
240°C
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Question No.75

Which type of valve is used to control different rate of flow of oil in hydraulic system?
Foyastls ‘?oe“egoeS‘ €506 G30E) DAY DIET BeR0 VoDoGowstrAS D BERY TR GOATNFED?

(A) O Pressure valve
Qb 7S¢

(B) O Direction control valve
EOLS SoS’S 7S¢

(C) O Throttle valve
E8S oS¢

(D) O Non return valve
S 0826 eS¢

1.00
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